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You should be able to do these problems on your own. I will not collect this assignment,
but you should make sure that you get the correct answers when I pass post the answer
key on Wednesday.

Example: Multlply or Divide the followmg
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Example: Slmpllfy using strict order of operations. All fractions must be in lowest
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Recall that division by zero is undefined, because them reciprocal o zerol e unde A
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Example: What number when multiplied by -7 g will yield 17 - 7—% -
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Example: What is the reciprocal of — ~/3 ? ) -3
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Example: What is the multiplicative inverse of 07 imﬁ:‘ﬁk\
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